SRITZE?

il
1.

o =
© ©
W
v
(1 m)
40
- EERN)
AC 30 /
P BHR(H)
AD 20 ./ —
// EEP)
10 > BAETR(SP)
_— BEEER(UP)
0 1000 2000 3000 4000
- RALE R (mm)
B&1. SRITERE
BE B EFiR
N i@tk H Sk P 5K SP B EIR | UP RIEHR
HEERE H) +0.1 +0.04 0/-0.04 0/-0.02 0/-0.01
HEERE (W) +0.1 +0.04 0/-0.04 0/-0.02 0/-0.01
REBEMRERE (/. H) 0.03 0.02 0.01 0.005 0.003
REEEMESRE (A W) 0.03 0.02 0.01 0.005 0.003
B C E¥EE A BRNTERE A C2HEEN1
i8R D E¥EH) B ERVITERE A DZ2IEE 1
s o | BAE | BAE =
SR15 | 05 | 05 | 4 3 4 | M4x16
1 BT
o SR20 | 05 | 05 | 45 | 4 5 | M5x16
= © o[ = X
SR25 | 1 1 6 5 6 | M6x20
T & ) SR-30 | 1 1 7 | 6 8 | M8x25
) ) SR-35 | 1 1 7 | 8 | & | Mmsx2s
B2. SRZE&ERI(mm)
SR-45 | 1 1 9 8 8 | M12x35

IRSO PRECISION CO,,LTD.




%ﬁﬁ "I.:'/:%:R
L
L
4-MxL \Q/

H

ad

[y i il e

1 [EBESS H) EEE | EEs 5 | EEEE B2 P5(F—)
2 |msmmEEE W) e A 6 | EaEREE E2EP.7
3 | mRERER L CEER | e (SR | | 7| Bk (E)

4 | ERZEE S BURAREE (B*C) s 8 | mazE LR (P)

~— REERH

N i (= 38 ) ) H’f‘&(%_'. ) Pff‘&(**&.‘%&) SPiR (EBHEEM) UPIR(BSHBER) HABEFR-

TERERREHERE

\
|:|:|

BRITERER - (PAE1L)

IIIIIIﬂ | N | H P SP]UP

BEFE © O @ Ol o o
ERVEREA O @ O E=J7S CI )
FA STHTiEELE © @ @ A I )
I XY-Table e 6 o A7 e 0 ©
M #2853 e e @ R ER e o o
B @wstEc o e e T EEER e o 0
2 sameE e e e E  mEnTe o 0o 0
£ wmee o o @ B g P
HErEE @ BTN T A4 e o o
aREE e AT )
HBENH o o o NC R CI )
ERSE e WF il C)
B T ) ATC o
BEEE O O I CI )
5L e @ ot T e o o
= EE (] & BEE e 06 o
A sEREE e e " INY e o o
1 EEEE e @ s RIBEER )
EHITEE O @ % 1Rl S8 )
ATIRZH @ B EFHEHEAL C I )
EVAREME @ B ERIEIEREIL ® 0 o
1Y CI ) =  PCBE3ILME o o
U @ ; TERE e e e
ENRI ) = WABE @




SRIEEER =BERLDERIER

w
4-MxL B
Il
LA A
i £
T
1]
£
L
Wk L1
C
oD, ) @HJ 1l 1]
] == — ==
£ =
1 | A
A I iy
gd
E P E
Rl . o[V
- I
= ) 3 K 3 ~
e HAER BRR BER~T BEHER SH
H Hi L w B C L1 MxL T H> Wr Hr D h d P SREY k¥
SRH15B | 28 | 4 |614 | 34 | 26 | 26 | 38 | M4x5 | 65 | 87 | 15 | 15 | 75 | 53 | 45 | 60 | M4x16 | M4x0.7
SRH20B 30 45 | 734 44 32 36 50 M5x 6 7 7.2 20 175 | 95 88 6 60 M5x16 M6x0.75
SRH20BL 30 45 | 899 44 32 50 | 66.5 M5x 6 7 7.2 20 | 175 | 95 838 6 60 Mb5x16 M6x0.75
SRH25B 40 6 894 | 48 35 35 60 M6x 8 9 8 23 22 11 9.3 60 M6x20 M6x0.75
SRH25BL 40 6 1074 | 48 35 50 78 M6 x 8 9 8 23 22 11 9.3 7 60 M6x20 M6x0.75
SRH30B 45 7 1064 | 60 40 40 70 M8x 10 11 9 28 26 14 | 123 9 80 M8x25 M6x0.75
SRH30BL 45 7 126 60 40 60 93 | M8x10 11 9 28 26 14 | 123 9 80 M8x25 M6x0.75
SRH35B 55 75 115 70 50 50 80 M8x 12 11 8 34 29 14 | 125 9 80 M8x25 M6x0.75
SRH45B | 70 | 9 | 143 | 8 | 60 | 60 | 105 |M10x16| 14 | 11 | 45 | 38 | 20 | 17 | 14 | 105 | M12x35 | PT1/8"
BMSERS El=tci Han BHFNE B8
RIS
wE E C (kN) Co (kN) Mg kN-m Mp kN-m My kN-m Bk kg B kg/m
SRH15B 4000 20 1157 17.26 0.12 0.10 0.10 017 1.44
SRH20B 4000 20 17.57 2749 0.27 0.20 0.20 0.30 220
SRH20BL 4000 20 2337 36.56 0.36 0.26 0.26 0.40 220
SRH25B 4000 20 27.39 37.76 043 0.34 0.34 0.50 3.20
SRH25BL 4000 20 29.90 56.00 0.52 044 043 0.56 3.20
SRH30B 4000 20 38.74 52.20 0.66 0.53 0.53 0.90 4.55
SRH30BL 4000 20 39.00 71.90 0.79 0.65 0.65 135 455
SRH35B 4000 20 49.52 69.16 116 0.81 0.81 1.40 6.20
SRH45B 4000 225 83.97 11117 214 1.68 1.68 2.80 1040

IRSO PRECISION CO.,LTD.






